Philosophy and Principles Exam #2

Fall, 2002

Dr. Christy

Select the one best response.

1. The segmental dysfunction model is:

A. Excitatory  <<<<<<<<<<<<<<

B. Inhibitory

C. Hypermobile

2. The cause of central excitation is:

A. Muscle Spasm

B. Increased mechanoreception

C. Afferentation  <<<<<<<<<<<<<<

3. The deep tendon reflex could be written:

A. VA-SE

B. SA-VE

C. SA-SE <<<<<<<<<<<<<<<<<<

4. Muscle spasms surrounding an inflamed appendix represents a ___________ reflex.

A. VA-SE <<<<<<<<<<<<<

B. VA-SE

C. SA-VE

5. The Denslow study confirmed that :

A. Nociception is the primary afferentation.

B. The fixated segment is facilitated <<<<<<<<<<<<<<<<<<

C. Nerve compression causes neurological deficits

6. When are facet joints most dysfunctional?

A. When Fixated

B. When weight-bearing <<<<<<<<<

C. When hypermobile

7. All afferent bombardment terminates in the:

A. Dorsal Horn<<<<<<<<<<<

B. Dorsal root ganglion

C. Anterior horn

8. The cause of somato/autonomic reflexes is:

A. Nerve compression

B. Nerve irritation <<<<<<<<<<<<

C. Both of the above

9. “Facilitation” is defined as:

A. Lowered threshold <<<<<<<<<<<<<<<

B. Increased threshold

C. A neurological lesion

10. Flexion and extension could be expressed as:

A. Translation along the Y axis

B. Rotation about the Z axis

C. Rotation about the x axis. <<<<<<<<<<<<<<
11. The cause of the instability phase is:

A. Joint approximation <<<<<<<<<<<<<

B. Muscle laxity

C. Osteoporosis

12. Increased translatory motion is called:

A. Hypermobility

B. Instability <<<<<<<<<<<<<

C. Degenerative joint disease

13. Which is not associated with segmental dysfunction?

A. Increased translatory motion

B. Sweating<<<<<<<<<<<<<<<

C. Spasm

14. The most common cause of bradycardia  (slow heart rate) is:

A. Decreased sympathetic output

B. Increased parasympathetic output <<<<<<<<<<<

C. Increased sympathetic output

15. Translation along the Y axis is referred to as :

A. Compression/distraction <<<<<<<<<<<<

B. Posterior to anterior motion

C. Left and right rotation

16. The reason behind the formation of osteophytes is:

A. To reduce ligament laxity <<<<<<<<<<<

B. To increase physiological motion

C. To reduce afferentation

17. Which best defines a “lesion?”

A. Hypofunction <<<<<<<<<<<<

B. Hyperfunction

C. Both of the above

18. Loss of the somato/autonomic reflexes occurs with :

A. Segmental dysfunction

B. Lower motor neuron lesion<<<<<<<<<<<<<<<

C. Both of the above

19. In which is one most likely to detect neurological deficits?

A. Segmental dysfunction

B. Instability phase

C. Stability phase <<<<<<<<<<<<<<<

20. “Joint play” is synonymous with:

A. rotatory motion

B. translatory motion<<<<<<<<<<<<<<<

C. physiological motion

21. Segmental dysfunction:

A. Is generally not x-ray visible <<<<<<<<<<<<<

B. Is often associated with loss of muscle tone

C. Commonly results from disc degeneration

22. Palmer said that:

A. Somato/autonomic reflexes result from subluxation.

B. Nerve excitation is the most common occurrence with the subluxation.<<<<<<<<<<<<<<

C. Hypomobility is the major finding associated with the subluxation.

23. In the segmental dysfunction model, fixation will result in:

A. Increased afferentation

B. Loss of mechanoreception

C. Both of the above<<<<<<<<<<<<<<<<<<<

24. Nerve irritation is associated with:

A. Facilitation <<<<<<<<<<<<<

B. Compression

C. Positive neurological exam findings

25. Afferentation will _________the subluxation complex

A. Cause

B. Result from 

C. Both of the above<<<<<<<<<<<<<

26. Which happens first ?

A. Loss of translatory motion <<<<<<<<<

B. Ligament laxity

C. Disc degeneration

27. Which fibers may directly initiate segmental dysfunction?

A. VA, SE

B. VA, SA <<<<<<<<<<<<<<<

C. VE, SA

28. Irritation to the lateral horn will stimulate the  _____________fibers.

A. VE<<<<<<<<<<<<

B. SE

C. VA

29. The purpose of adjusting the segmental dysfunction is:

A. To remove nerve pressure

B. To restore nerve conduction

C. To restore motion <<<<<<<<<<<<<

30. Sweating after striking one’s finger with a hammer is a _____ reflex.

A. SA-VE<<<<<<<<<<<<<<<<

B. SE-VA

C. VA-SE

31. When subluxation and visceral dysfunction are both evident:

A. A somatovisceral reflex is likely

B. A viserosomatic reflex is likely

C. Both of the above <<<<<<<<<<<<<<<<<

32. The GTO would be classified as 

A. SE

B. VE

C. SA <<<<<<<<<<<<<<<<<<

33. GABA will:

A. Increase somato/autonomic reflexes

B. Inhibit afferentation <<<<<<<<<<<<

C. Produce neurological deficits

34. Subluxation will cause muscle spasm by:

A. Compression of the nerve root

B. Nociceptive spread to the anterior horn <<<<<<<<<<<<<

C. Proprioceptive afferentation

35. Which is a likely example of nerve dysfunction?

A. Increased sensitivity to pinwheel

B. Afferentation

C. Flaccidity <<<<<<<<<<<<<<<

